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Cuadro 5 (continuación 3)/Table 5 (continued 3)
Chile: tablas abreviadas de mortalidada

 Chile: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.039 0.038  100 000  3 796  96 981 0.960 b 6 540 498 65.4
1 4 0.002 0.007  96 204   667  383 060 0.993 c 6 443 517 67.0
5 5 0.001 0.003  95 538   321  476 885 0.997 6 060 457 63.4

10 5 0.001 0.003  95 216   326  475 268 0.995 5 583 572 58.6
15 5 0.001 0.006  94 891   538  473 109 0.992 5 108 304 53.8
20 5 0.002 0.009  94 353   887  469 545 0.989 4 635 196 49.1
25 5 0.003 0.013  93 465  1 188  464 357 0.986 4 165 650 44.6
30 5 0.003 0.016  92 278  1 468  457 718 0.982 3 701 293 40.1
35 5 0.004 0.021  90 809  1 885  449 335 0.975 3 243 575 35.7
40 5 0.006 0.029  88 925  2 549  438 250 0.965 2 794 240 31.4
45 5 0.008 0.041  86 375  3 538  423 030 0.950 2 355 990 27.3
50 5 0.012 0.059  82 837  4 919  401 887 0.928 1 932 960 23.3
55 5 0.018 0.086  77 918  6 727  372 771 0.895 1 531 072 19.6
60 5 0.027 0.125  71 191  8 904  333 694 0.850 1 158 301 16.3
65 5 0.039 0.179  62 287  11 177  283 493 0.787  824 607 13.2
70 5 0.058 0.253  51 110  12 953  223 169 0.705  541 115 10.6
75 5 0.085 0.350  38 157  13 347  157 419 0.602  317 946 8.3
80 5 0.124 0.471  24 810  11 685  94 840 0.480  160 527 6.5
85 5 0.183 0.613  13 125  8 047  45 509 0.351  65 687 5.0
90 5 0.256 0.740  5 078  3 759  15 995 0.237  20 178 4.0
95 5 0.354 0.850  1 320  1 122  3 794 0.093 d  4 183 3.2

100 ω 0.509 1.000   198   198   389   389 2.0
Mujeres/Females

0 1 0.033 0.032  100 000  3 196  97 457 0.966 b 7 210 408 72.1
1 4 0.002 0.006  96 804   602  385 609 0.994 c 7 112 951 73.5
5 5 0.001 0.003  96 202   278  480 317 0.997 6 727 342 69.9

10 5 0.000 0.002  95 925   232  479 043 0.997 6 247 025 65.1
15 5 0.001 0.003  95 693   281  477 761 0.997 5 767 982 60.3
20 5 0.001 0.004  95 412   377  476 115 0.995 5 290 221 55.4
25 5 0.001 0.005  95 035   511  473 895 0.994 4 814 105 50.7
30 5 0.001 0.007  94 523   693  470 885 0.991 4 340 211 45.9
35 5 0.002 0.010  93 831   951  466 775 0.988 3 869 326 41.2
40 5 0.003 0.014  92 879  1 334  461 061 0.982 3 402 550 36.6
45 5 0.004 0.021  91 545  1 916  452 935 0.974 2 941 489 32.1
50 5 0.006 0.031  89 629  2 808  441 126 0.961 2 488 554 27.8
55 5 0.010 0.048  86 821  4 158  423 713 0.939 2 047 427 23.6
60 5 0.015 0.074  82 664  6 138  397 974 0.906 1 623 714 19.6
65 5 0.024 0.116  76 526  8 855  360 492 0.854 1 225 740 16.0
70 5 0.040 0.181  67 671  12 230  307 780 0.782  865 248 12.8
75 5 0.061 0.264  55 441  14 622  240 650 0.690  557 469 10.1
80 5 0.092 0.374  40 819  15 258  165 951 0.572  316 819 7.8
85 5 0.140 0.513  25 561  13 122  95 003 0.437  150 867 5.9
90 5 0.210 0.665  12 440  8 273  41 516 0.300  55 864 4.5
95 5 0.307 0.804  4 167  3 350  12 459 0.132 d  14 348 3.4

100 ω 0.432 1.000   817   817  1 890  1 890 2.3

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


